3 An equation for the line tangent to the graph of the differentiable function fatz=2isy=9z—12,
3.

Which of the following statements must be true?
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Shown above 15 the graph of the differentiable function f along with the Ime |m€em to the graph of f at QD

z = 3. What is the value of ' (3) 2
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Graph of f’ \ \ .
Let f be a differentiable function with f(1) = —2. The graph of f', the derrvative of f. 1s shown above. p ‘
D —

Whch of the following statements 1s true about the line tangent to the graphof fatz =17

Mke tangent line has slope —1 and passes through the point (1, —2). C'—m'\ ‘ ;he
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The tangent line has slope —1 and passes through the potat (1, —1). 9 \ (, ‘\ k ws
- -T he ,
@Q‘he tangent line has slope 0 and passes through the point (1, —2). ;'(' ) a
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@ The tangent line has slope 0 and passes through the point (1, —1). W"D A ah c- \ l-'°




